c2 is Laplacian and c1 is the derivative with regards to time. So vectors are (Laplacian, dT/dt), both data
sets are non-normalized.

Day 1
In[120]:=
day = 1;
data = 1 » Table[{c2[[day, v, x]], cl[[day, v, x]]},
{x, 1, Dimensions[cl][[3]], 1}, {y, 1, Dimensions[cl][[2]], 1}];
ListStreamPlot[data, AspectRatio » 73 / 144, StreamPoints -» 1000,
VectorPoints » {144, 73}, ImageSize - 650]
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nsel= 1lm = LinearModelFit [Flatten[data, 1], x, x]
Show[ListPlot[Flatten[data, 1]],
Plot[1lm[x], {x, -300, 300}, PlotStyle » {Red}], Frame - True]

oussl= FittedModel || -4.03526+0.00566864 x

150 F
100F "L

50F

out[59]= ]
-50{ "
-100F .

-150F .

-200 b

Lt e et Lt .
-200 -100 0 100 200



2 | daniel_debug_stream?2.nb

Day 100

ni144)= day = 100;
data = Table[{c2[[day, y, x]], cl[[day, y, x]]},
{x, 1, Dimensions[cl][[3]], 1}, {y, 1, Dimensions[cl][[2]], 1}];
ListStreamPlot[data, AspectRatio -» 73 / 144, StreamPoints -» 1000,
VectorPoints » {143, 73}, ImageSize - 650]
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- 1lm = LinearModelFit [Flatten[data, 1], x, x]
Show[ListPlot[Flatten[data, 1]],
Plot[1lm[x], {x, -300, 300}, PlotStyle » {Red}], Frame - True]

outesl= FittedModel || 2.72765-0.0067583 x
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in1471= day = 200;
data = Table[{c2[[day, y, x]], cl[[day, ¥, x]]},
{x, 1, Dimensions[cl][[3]], 1}, {y, 1, Dimensions[cl][[2]], 1}];
ListStreamPlot[data, AspectRatio -» 73 / 144, StreamPoints -» 1000,
VectorPoints » {144, 73}, ImageSize - 650]
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nes]= lm = LinearModelFit [Flatten[data, 1], x, x]
Show[ListPlot [Flatten[data, 1]],
Plot[1m[x], {x, -300, 300}, PlotStyle » {Red}], Frame - True]

outesl= FittedModel | -3.51247+0.00172804 x
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In[150]:=
day = 300;
data = Table[{c2[[day, ¥, x]], cl[[day, ¥, x]]},
{x, 1, Dimensions[cl][[3]], 1}, {y, 1, Dimensions[cl][[2]], 1}];
ListStreamPlot[data, AspectRatio -» 73 / 144, StreamPoints -» 1000,
VectorPoints » {144, 73}, ImageSize - 650]
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7= lm = LinearModelFit [Flatten[data, 1], x, x]

ou7s)- FittedModel || 6.65382-0.000761057 x

n74:-= Show[ListPlot[Flatten[data, 1]],
Plot[1lm[x], {x, -300, 300}, PlotStyle » {Red}], Frame - True]
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